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(a) Radiosounding

MM fitting: log
10

(Ri)=(-0.0014)*h3+(0.0352)*h2+

                                  (-0.3099)*h+(1.2021), h (0-10 km), R
xy

=0.95

SP fitting: log
10

(Ri)=(0.0328)*h3+(-0.2646)*h2+

                                 (0.6942)*h+(0.3748), h (0-5 km), R
xy

=0.78

DC fitting: log
10

(Ri)=(0.0301)*h3+(-0.2387)*h2+

                                 (0.6214)*h+(0.4425), h (0-5 km), R
xy

=0.72
MM: MAM

MM: JJA

MM: SON

MM: DJF

MM Fitting

SP: MAM

SP: JJA

SP: SON

SP: DJF

SP Fitting

DC: MAM

DC: JJA

DC: SON

DC: DJF

DC: Fitting
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(b) AMPS

MM fitting: log
10

(Ri)=(0.0075)*h3+(-0.1357)*h2+

                                  (0.8381)*h+(-0.2313), h (0-10 km), R
xy

=0.91

SP fitting: log
10

(Ri)=(0.0825)*h3+(-0.7223)*h2+

                                 (1.9156)*h+(-0.0579), h (0-5 km), R
xy

=0.90

DC fitting: log
10

(Ri)=(0.0634)*h3+(-0.5489)*h2+

                                 (1.3927)*h+(0.5181), h (0-5 km), R
xy

=0.79
MM: MAM

MM: JJA

MM: SON

MM: DJF

MM Fitting

SP: MAM

SP: JJA

SP: SON

SP: DJF

SP Fitting

DC: MAM

DC: JJA

DC: SON

DC: DJF

DC Fitting




